Mojave Basin Area Watermaster

Temporary Transfers 2004-05 Water Year

Transferee (Transferred to:)	Transferor (Transferred from:)	Type of Transfer	Amount of Transfer (Acre-feet)	Price per Acre-foot	Total Cost of Transfer	Subarea	Date Accepted by Watermaster
Apple Valley Country Club	Thomas Farms	TempCarryover in Lieu of Replaceme	nt 61	\$95.00	\$5,795.00	Alto	5/25/2005
Apple Valley Country Club	Van Leeuwen Family Trust	TempCarryover in Lieu of Replaceme	nt 9	\$125.00	\$1,125.00	Alto	5/25/2005
Apple Valley Heights County Water District	Brown, Bobby G. and Valeria R.	TempCarryover in Lieu of Replaceme	nt 32	\$110.00	\$3,520.00	Alto	5/25/2005
Apple Valley Ranchos Water Company	Bass Trust, Newton T.	TempCarryover FPA	410	\$125.00	\$51,250.00	Alto	5/25/2005
Apple Valley Ranchos Water Company	Gulbranson, Merlin	TempCarryover FPA	131	\$125.00	\$16,375.00	Alto	5/25/2005
Apple Valley Ranchos Water Company	Holway, C. Robert	TempCarryover FPA	23	\$125.00	\$2,875.00	Alto	5/25/2005
Apple Valley Ranchos Water Company	Jess Ranch Water Company	TempCarryover FPA	2,000	\$142.84	\$285,680.00	Alto	5/25/2005
Apple Valley Ranchos Water Company	Johnston, Harriet and Johnston, Lawrence W.	TempCarryover FPA	98	\$125.00	\$12,250.00	Alto	5/25/2005
Apple Valley Ranchos Water Company	Low, Dean	TempCarryover FPA	160	\$125.00	\$20,000.00	Alto	5/25/2005
Apple Valley Ranchos Water Company	Polich, Lee and Donna	TempCarryover FPA	46	\$125.00	\$5,750.00	Alto	5/25/2005
Apple Valley Ranchos Water Company	Rudman, Robert T.	TempCarryover FPA	204	\$125.00	\$25,500.00	Alto	5/25/2005
Apple Valley Ranchos Water Company	Thrasher, Gary	TempCarryover FPA	280	\$125.00	\$35,000.00	Alto	5/25/2005
Apple Valley Ranchos Water Company	Trekell, Brian	TempCarryover FPA	67	\$125.00	\$8,375.00	Alto	5/25/2005
Apple Valley Ranchos Water Company	West, Howard and Suzy	TempCarryover FPA	58	\$125.00	\$7,250.00	Alto	5/25/2005
Apple Valley View Mutual Water Company	Lawson, Ernest and Barbara	TempCarryover in Lieu of Replaceme	nt 11	\$110.00	\$1,210.00	Alto	5/25/2005
Apple Valley View Mutual Water Company	West, Jimmie E. and Nancy D.	TempCarryover in Lieu of Replaceme	nt 6	\$110.00	\$660.00	Alto	5/25/2005
Baldy Mesa Water District	Jess Ranch Water Company	TempCarryover FPA	2,000	\$114.29	\$228,580.00	Alto	5/25/2005
Baldy Mesa Water District	Victorville, City Of	TempCarryover FPA	729	\$75.00	\$54,675.00	Alto	5/25/2005
Hesperia Golf And Country Club	Beinschroth Family Trust	TempCarryover in Lieu of Replaceme	nt 95	\$120.00	\$11,400.00	Alto	5/25/2005
Hesperia Water District	Ades, John and Devon	TempCarryover FPA	27	\$75.00	\$2,025.00	Alto	5/25/2005
Hesperia Water District	Dexter Family Trust	TempCarryover FPA	8	\$70.00	\$560.00	Alto	5/25/2005
Hesperia Water District	Rancho Las Flores, LLC	TempCarryover FPA	4,776	\$60.00	\$286,560.00	Alto	5/25/2005

Mojave Basin Area Watermaster

	ransferor Fransferred from:)	Type of Transfer	Amount of Transfer (Acre-feet)	Price per Acre-foot	Total Cost of Transfer	Subarea	Date Accepted by Watermaster
Hesperia Water District Th	nompson Living Trust, R.L. and R.A.	TempCarryover FPA	23	\$75.00	\$1,725.00	Alto	5/25/2005
Hesperia Water District Va	ail, Joseph B. and Paula E.	TempCarryover FPA	99	\$70.00	\$6,930.00	Alto	5/25/2005
Hesperia Water District Wy	yatt Family Trust	TempCarryover FPA	56	\$75.00	\$4,200.00	Alto	5/25/2005
Jamboree Housing Corporation Do	olch, Robert and Judy	TempFPA	50	\$55.00	\$2,750.00	Alto	5/25/2005
Jamboree Housing Corporation Do	olch, Robert and Judy	TempCarryover in Lieu of Replaceme	nt 7	\$55.00	\$385.00	Alto	5/25/2005
San Bernardino County Service Area 64 Ag	gcon, Inc.	TempCarryover in Lieu of Replaceme	nt 25	\$90.00	\$2,250.00	Alto	5/25/2005
San Bernardino County Service Area 64 CE	DFG - Mojave Narrows Regional Park	TempCarryover in Lieu of Replaceme	nt 269	\$95.00	\$25,555.00	Alto	5/25/2005
San Bernardino County Service Area 64 Hi-	i-Grade Materials Company	TempCarryover in Lieu of Replaceme	nt 28	\$90.00	\$2,520.00	Alto	5/25/2005
San Bernardino County Service Area 64 La	ake Arrowhead Community Services District	TempCarryover in Lieu of Replaceme	nt 66	\$95.00	\$6,270.00	Alto	5/25/2005
San Bernardino County Service Area 64 Riv	verside Cement Company - Agriculture	TempCarryover in Lieu of Replaceme	nt 155	\$90.00	\$13,950.00	Alto	5/25/2005
San Bernardino County Service Area 64 Riv	verside Cement Company - Oro Grande Plant	TempCarryover in Lieu of Replaceme	nt 347	\$90.00	\$31,230.00	Alto	5/25/2005
San Bernardino County Service Area 64 San	an Bernardino County Service Area 42	TempCarryover in Lieu of Replaceme	nt 50	\$95.00	\$4,750.00	Alto	5/25/2005
San Bernardino County Service Area 64 Va	an Berg, Jack C.	TempCarryover in Lieu of Replaceme	nt 224	\$95.00	\$21,280.00	Alto	5/25/2005
San Bernardino County Service Area 70C Ca	alMat Company	TempCarryover in Lieu of Replaceme	nt 429	\$90.00	\$38,610.00	Alto	5/25/2005
San Bernardino County Service Area 70C San	an Bernardino County Service Area 42	TempCarryover in Lieu of Replaceme	nt 50	\$95.00	\$4,750.00	Alto	5/25/2005
San Bernardino County Service Area 70J An	merican States Water Company	TempCarryover in Lieu of Replaceme	nt 77	\$95.00	\$7,315.00	Alto	5/25/2005
San Bernardino County Service Area 70J CE	DFG - Mojave Narrows Regional Park	TempCarryover in Lieu of Replaceme	nt 45	\$95.00	\$4,275.00	Alto	5/25/2005
San Bernardino County Service Area 70J La	ake Arrowhead Community Services District	TempCarryover in Lieu of Replaceme	nt 447	\$95.00	\$42,465.00	Alto	5/25/2005
San Bernardino County Service Area 70J San	an Bernardino County Service Area 42	TempCarryover in Lieu of Replaceme	nt 51	\$95.00	\$4,845.00	Alto	5/25/2005
San Bernardino County Service Area 70J Soc	on of Caduceus	TempCarryover in Lieu of Replaceme	nt 980	\$95.00	\$93,100.00	Alto	5/25/2005
San Bernardino County Service Area 70L An	merican States Water Company	TempCarryover in Lieu of Replaceme	nt 172	\$95.00	\$16,340.00	Alto	5/25/2005
San Bernardino County Service Area 70L Ca	alMat Company	TempCarryover in Lieu of Replaceme	nt 64	\$90.00	\$5,760.00	Alto	5/25/2005

Mojave Basin Area Watermaster

Transferer Transferer Type of	ransfer (cre-feet)	Price per Acre-foot	Total Cost of Transfer	Subarea	Date Accepted by Watermaster
San Bernardino County Service Area 70L Hi-Grade Materials Company TempCarryover in Lieu of Replacement	9	\$90.00	\$810.00	Alto	5/25/2005
San Bernardino County Service Area 70L Lake Arrowhead Community Services District TempCarryover in Lieu of Replacement	14	\$95.00	\$1,330.00	Alto	5/25/2005
San Bernardino County Service Area 70LSan Bernardino County Service Area 42TempCarryover in Lieu of Replacement	50	\$95.00	\$4,750.00	Alto	5/25/2005
Service Rock Products CorporationHi-Grade Materials CompanyTempCarryover in Lieu of Replacement	31	\$65.00	\$2,015.00	Alto	5/25/2005
Southern California Water CompanyAmerican States Water CompanyTempCarryover in Lieu of Replacement	451	\$95.00	\$42,845.00	Alto	5/25/2005
Southern California Water CompanyCDFG - Mojave Narrows Regional ParkTempCarryover in Lieu of Replacement	77	\$95.00	\$7,315.00	Alto	5/25/2005
Thunderbird County Water DistrictBeinschroth Family TrustTempCarryover in Lieu of Replacement	63	\$120.00	\$7,560.00	Alto	5/25/2005
Victor Valley Community College District Brown, Jennifer TempCarryover in Lieu of Replacement	33	\$95.00	\$3,135.00	Alto	5/25/2005
Victor Valley Community College District Dowse, Philip TempCarryover in Lieu of Replacement	16	\$95.00	\$1,520.00	Alto	5/25/2005
Victor Valley Community College District Kemper Campbell Ranch TempCarryover in Lieu of Replacement	222	\$95.00	\$21,090.00	Alto	5/25/2005
Victor Valley Community College District Nunn, Donald and Pearl TempCarryover in Lieu of Replacement	15	\$95.00	\$1,425.00	Alto	5/25/2005
Victor Valley Community College District Thomas Farms TempCarryover in Lieu of Replacement	8	\$95.00	\$760.00	Alto	5/25/2005
Victor Valley Community College DistrictVan Leeuwen Family TrustTempCarryover in Lieu of Replacement	2	\$125.00	\$250.00	Alto	5/25/2005
Victor Valley Community College District Wakula, John and Helen TempCarryover in Lieu of Replacement	40	\$100.00	\$4,000.00	Alto	5/25/2005
Victor Valley Water District LHC Alligator, LLC TempCarryover in Lieu of Replacement	399	\$105.00	\$41,895.00	Alto	5/25/2005
Victor Valley Water District Thomas Farms TempCarryover in Lieu of Replacement	94	\$95.00	\$8,930.00	Alto	5/25/2005
Victor Valley Water District Thomas Farms TempCarryover in Lieu of Replacement	28	\$100.00	\$2,800.00	Alto	5/25/2005
Victor Valley Water DistrictVan Leeuwen Family TrustTempCarryover in Lieu of Replacement	126	\$125.00	\$15,750.00	Alto	5/25/2005
Apple Valley Ranchos Water CompanyBrooklier, Nancy L.TempCarryover FPA	7	\$125.00	\$875.00	Alto	7/27/2005
Apple Valley Ranchos Water CompanyBurns, Annie L.TempCarryover FPA	132	\$125.00	\$16,500.00	Alto	7/27/2005
Apple Valley Ranchos Water Company Candlewood Investment Properties TempCarryover FPA	29	\$125.00	\$3,625.00	Alto	7/27/2005
Apple Valley Ranchos Water CompanyCramer, Margaret MuirTempCarryover FPA	224	\$125.00	\$28,000.00	Alto	7/27/2005

Mojave Basin Area Watermaster

Transferee (Transferred to:)	Transferor (Transferred from:)	Type of Transfer	Amount of Transfer (Acre-feet)	Price per Acre-foot	Total Cost of Transfer	Subarea	Date Accepted by Watermaster
Apple Valley Ranchos Water Company	Fisher, Dolores	TempCarryover FPA	37	\$125.00	\$4,625.00	Alto	7/27/2005
Apple Valley Ranchos Water Company	Fisher, Jerome	TempCarryover FPA	506	\$125.00	\$63,250.00	Alto	7/27/2005
Apple Valley Ranchos Water Company	Lounsbury, J. Peter and Carolyn	TempCarryover FPA	133	\$125.00	\$16,625.00	Alto	7/27/2005
Apple Valley Ranchos Water Company	McCall, Vivian E.	TempCarryover FPA	36	\$125.00	\$4,500.00	Alto	7/27/2005
Apple Valley Ranchos Water Company	Pearl, Alice	TempCarryover FPA	106	\$125.00	\$13,250.00	Alto	7/27/2005
Apple Valley Ranchos Water Company	Reed, Delbert E. and Linda	TempFPA	5	\$125.00	\$625.00	Alto	7/27/2005
Apple Valley Ranchos Water Company	Reed, Delbert E. and Linda	TempCarryover FPA	70	\$125.00	\$8,750.00	Alto	7/27/2005
Apple Valley Ranchos Water Company	Thompson Living Trust, James A. and Sula B.	TempCarryover FPA	328	\$125.00	\$41,000.00	Alto	7/27/2005
Apple Valley Ranchos Water Company	Vogler, et al.	TempCarryover FPA	46	\$125.00	\$5,750.00	Alto	7/27/2005
Hesperia Water District	Beebe, Robert W. and Dorothy K.	TempCarryover FPA	29	\$70.00	\$2,030.00	Alto	7/27/2005
Hesperia Water District	Elisabella, LLC	TempCarryover FPA	90	\$70.00	\$6,300.00	Alto	7/27/2005
Apple Valley Ranchos Water Company	Apple Valley, Town Of	TempCarryover FPA	205	\$125.00	\$25,625.00	Alto	9/28/2005
Apple Valley Ranchos Water Company	Bastianon, Remo E.	TempCarryover FPA	61	\$125.00	\$7,625.00	Alto	9/28/2005
Apple Valley Ranchos Water Company	Halanna Equities III	TempCarryover FPA	10	\$125.00	\$1,250.00	Alto	9/28/2005
Apple Valley Ranchos Water Company	Hamilton Trust, Don and Ruth M.	TempCarryover FPA	24	\$125.00	\$3,000.00	Alto	9/28/2005
Apple Valley Ranchos Water Company	Keel, Al J. and Barbara	TempCarryover FPA	24	\$125.00	\$3,000.00	Alto	9/28/2005
Apple Valley Ranchos Water Company	Pettis Family Trust	TempCarryover FPA	50	\$125.00	\$6,250.00	Alto	9/28/2005
Apple Valley Ranchos Water Company	Storm, Randall	TempCarryover FPA	46	\$125.00	\$5,750.00	Alto	9/28/2005
Apple Valley Ranchos Water Company	Thrasher, Gary	TempCarryover FPA	5	\$125.00	\$625.00	Alto	9/28/2005
Hesperia Water District	Summit Valley Ranch	TempCarryover FPA	317	\$65.00	\$20,605.00	Alto	9/28/2005
Victor Valley Community College District	Wackeen, Caesar	TempCarryover FPA	40	\$100.00	\$4,000.00	Alto	9/28/2005

Mojave Basin Area Watermaster

Transferee (Transferred to:)	Transferor (Transferred from:)	Type of Transfer	Amount of Transfer (Acre-feet)	Price per Acre-foot	Total Cost of Transfer	Subarea	Date Accepted by Watermaster
		Alto Subtotal (87)	19,183		\$1,869,285.00		
Calico Lakes Homeowners Association	Western Horizon Associates, Inc.	TempCarryover in Lieu of Replaceme	ent 74	\$25.00	\$1,850.00	Baja	5/25/2005
Cheyenne Lake, Inc.	Western Horizon Associates, Inc.	TempCarryover in Lieu of Replaceme	ent 133	\$25.00	\$3,325.00	Baja	5/25/2005
Hanson Aggregates WRP, Inc.	Western Horizon Associates, Inc.	TempCarryover in Lieu of Replaceme	ent 40	\$25.00	\$1,000.00	Baja	5/25/2005
Mojave Water Agency	Cho Brothers Ranch	Carryover-FPA Purchase Program	3	\$17.00	\$46.00	Baja	5/25/2005
Mojave Water Agency	Dick Van Dam Dairy	Carryover-FPA Purchase Program	69	\$17.00	\$1,162.00	Baja	5/25/2005
Mojave Water Agency	Rossi, James L. and Naomi I.	FPA-FPA Purchase Program	12	\$17.00	\$194.00	Baja	5/25/2005
Mojave Water Agency	The 160 Newberry Ranch California, Ltd.	Carryover-FPA Purchase Program	7	\$17.00	\$106.00	Baja	5/25/2005
Mojave Water Agency	Vander Dussen Trust, Agnes and Edward	Carryover-FPA Purchase Program	34	\$17.00	\$562.00	Baja	5/25/2005
O. F. D. L., Inc.	Western Horizon Associates, Inc.	TempCarryover in Lieu of Replaceme	ent 54	\$25.00	\$1,350.00	Baja	5/25/2005
St. Antony Coptic Orthodox Monastery	Hollister, Robert H. and Ruth M.	TempCarryover in Lieu of Replaceme	ent 34	\$22.00	\$748.00	Baja	5/25/2005
St. Antony Coptic Orthodox Monastery	Murphy, Jean	TempCarryover in Lieu of Replaceme	ent 19	\$22.00	\$418.00	Baja	5/25/2005
Sundown Lakes, Inc.	Western Horizon Associates, Inc.	TempCarryover in Lieu of Replaceme	ent 66	\$25.00	\$1,650.00	Baja	5/25/2005
Wet Set, Inc.	Smith, William E. and Patricia A.	TempCarryover in Lieu of Replaceme	ent 6	\$50.00	\$300.00	Baja	5/25/2005
WLSR, Inc.	Western Horizon Associates, Inc.	TempCarryover in Lieu of Replaceme	ent 52	\$25.00	\$1,300.00	Baja	5/25/2005
Conner, William H.	Hilarides, Frank	TempCarryover FPA	10	\$25.00	\$250.00	Baja	7/27/2005
Kiewit Pacific Company	Hilarides, Frank	TempCarryover FPA	100	\$25.00	\$2,500.00	Baja	7/27/2005
Kiewit Pacific Company	Hilarides, Frank	TempCarryover FPA	100	\$50.00	\$5,000.00	Baja	7/27/2005
Sunray Energy, Inc.	Reliant Energy Coolwater L.L.C.	TempCarryover FPA	225	\$0.00	\$0.00	Baja	9/28/2005
Van Bastelaar, Alphonse	Johnson, James R. and Ellen	TempCarryover FPA	30	\$0.00	\$0.00	Baja	9/28/2005
		Baja Subtotal (19)	1,068		\$21,761.00		

Mojave Basin Area Watermaster

Transferee (Transferred to:)	Transferor (Transferred from:)	Type of Transfer	Amount of Transfer (Acre-feet)	Price per Acre-foot	Total Cost of Transfer	Subarea	Date Accepted by Watermaster
Adelanto, City Of/George A F B - Combined	Gabrych, Eugene	TempCarryover in Lieu of Makeup	395	\$80.00	\$31,600.00	C/A	5/25/2005
Adelanto, City Of/George A F B - Combined	Ruisch Trust, Dale W. and Nellie H.	TempCarryover in Lieu of Makeup	94	\$80.00	\$7,520.00	C/A	5/25/2005
Adelanto, City Of/George A F B - Combined	Yang, Young Mo	TempCarryover in Lieu of Makeup	154	\$80.00	\$12,320.00	C/A	5/25/2005
Agcon, Inc.	Kemper, Walter R. and Jonna S.	TempCarryover in Lieu of Makeup	26	\$80.00	\$2,080.00	C/A	5/25/2005
Apple Valley Country Club	Fahim, Ashraf and Mikhail, Mervat W.	TempCarryover in Lieu of Makeup	12	\$80.00	\$960.00	C/A	5/25/2005
Apple Valley Country Club	Yang, Young Mo	TempCarryover in Lieu of Makeup	42	\$80.00	\$3,360.00	C/A	5/25/2005
Apple Valley Heights County Water District	Apple Valley Heights County Water District	TempFPA in Lieu of Makeup	14	\$0.00	\$0.00	C/A	5/25/2005
Apple Valley Ranchos Water Company	Hill, Melvin	TempCarryover in Lieu of Makeup	1,665	\$85.00	\$141,525.00	C/A	5/25/2005
Apple Valley View Mutual Water Company	Soppeland, Wayne	TempCarryover in Lieu of Makeup	3	\$80.00	\$240.00	C/A	5/25/2005
Baldy Mesa Water District	Pacific Gas and Electric	TempCarryover in Lieu of Makeup	200	\$80.00	\$16,000.00	C/A	5/25/2005
Baldy Mesa Water District	Van Dam, Eldert and Susan	TempCarryover in Lieu of Makeup	15	\$80.00	\$1,200.00	C/A	5/25/2005
Baldy Mesa Water District	Van Dam, Eldert and Susan	TempFPA in Lieu of Makeup	279	\$80.00	\$22,320.00	C/A	5/25/2005
Beinschroth Family Trust	Soppeland, Wayne	TempFPA in Lieu of Makeup	23	\$80.00	\$1,840.00	C/A	5/25/2005
Beinschroth Family Trust	Werner, Andrew J.	TempCarryover in Lieu of Makeup	15	\$80.00	\$1,200.00	C/A	5/25/2005
Beinschroth Family Trust	Werner, Andrew J.	TempFPA in Lieu of Makeup	7	\$80.00	\$560.00	C/A	5/25/2005
Beinschroth, A. J.	Soppeland, Wayne	TempCarryover in Lieu of Makeup	7	\$80.00	\$560.00	C/A	5/25/2005
CDFG - Mojave Narrows Regional Park	Southern California Water Company	TempCarryover in Lieu of Makeup	119	\$70.00	\$8,330.00	C/A	5/25/2005
Cemex, Inc.	Pacific Gas and Electric	TempCarryover in Lieu of Makeup	112	\$80.00	\$8,960.00	C/A	5/25/2005
Dolch, Robert and Judy	Soppeland, Wayne	TempCarryover in Lieu of Makeup	2	\$80.00	\$160.00	C/A	5/25/2005
Hesperia Golf And Country Club	Gaines, Jack and Mary	TempCarryover in Lieu of Makeup	51	\$80.00	\$4,080.00	C/A	5/25/2005
Hesperia Water District	Aguayo, Jeanette L.	TempCarryover in Lieu of Makeup	168	\$75.00	\$12,600.00	C/A	5/25/2005
Hesperia Water District	Contratto, Ersula	TempCarryover in Lieu of Makeup	110	\$75.00	\$8,250.00	C/A	5/25/2005

Mojave Basin Area Watermaster

Temporary Transfers 2004-05 Water Year

Transferee (Transferred to:)	Transferor (Transferred from:)	Type of Transfer	Amount of Transfer (Acre-feet)	Price per Acre-foot	Total Cost of Transfer	Subarea	Date Accepted by Watermaster
Hesperia Water District	Eygnor, Robert E. and Patsy C.	TempCarryover in Lieu of Makeup	40	\$75.00	\$3,000.00	C/A	5/25/2005
Hesperia Water District	Hare, Thomas R. and Helen P.	TempCarryover in Lieu of Makeup	56	\$75.00	\$4,200.00	C/A	5/25/2005
Hesperia Water District	Howard, Norman N.	TempCarryover in Lieu of Makeup	81	\$75.00	\$6,075.00	C/A	5/25/2005
Hesperia Water District	Jones, Joette	TempCarryover in Lieu of Makeup	48	\$75.00	\$3,600.00	C/A	5/25/2005
Hesperia Water District	Jordan, Raymond	TempCarryover in Lieu of Makeup	313	\$80.00	\$25,040.00	C/A	5/25/2005
Hesperia Water District	Kasner Family Limited Partnership	TempCarryover in Lieu of Makeup	270	\$75.00	\$20,250.00	C/A	5/25/2005
Hesperia Water District	Little, Don and Mustafa, Ed	TempCarryover in Lieu of Makeup	88	\$75.00	\$6,600.00	C/A	5/25/2005
Hesperia Water District	Lo, Peter C. N. and Debbie D. J.	TempCarryover in Lieu of Makeup	73	\$75.00	\$5,475.00	C/A	5/25/2005
Hesperia Water District	Ruisch Trust, Dale W. and Nellie H.	TempCarryover in Lieu of Makeup	400	\$75.00	\$30,000.00	C/A	5/25/2005
Hesperia Water District	Ryken, Paul, et al.	TempCarryover in Lieu of Makeup	64	\$75.00	\$4,800.00	C/A	5/25/2005
Hi-Grade Materials Company	Ruisch Trust, Dale W. and Nellie H.	TempCarryover in Lieu of Makeup	4	\$80.00	\$320.00	C/A	5/25/2005
Jamboree Housing Corporation	Soppeland, Wayne	TempCarryover in Lieu of Makeup	5	\$80.00	\$400.00	C/A	5/25/2005
Jess Ranch Water Company	Hill, Melvin	TempCarryover in Lieu of Makeup	86	\$85.00	\$7,310.00	C/A	5/25/2005
Johnson, Carlean	Soppeland, Wayne	TempCarryover in Lieu of Makeup	6	\$80.00	\$480.00	C/A	5/25/2005
Kemper Campbell Ranch	Gabrych, Eugene	TempCarryover in Lieu of Makeup	17	\$75.00	\$1,275.00	C/A	5/25/2005
Lounsbury, J. Peter and Carolyn	Soppeland, Wayne	TempCarryover in Lieu of Makeup	2	\$80.00	\$160.00	C/A	5/25/2005
Luckey, Manley J.	Nelson, Mildred L.	TempCarryover in Lieu of Makeup	26	\$80.00	\$2,080.00	C/A	5/25/2005
Luth, Ken	Soppeland, Wayne	TempCarryover in Lieu of Makeup	3	\$80.00	\$240.00	C/A	5/25/2005
Mariana Ranchos County Water District	Smith, Robert A.	TempCarryover in Lieu of Makeup	28	\$80.00	\$2,240.00	C/A	5/25/2005
Navajo Mutual Water Company	Soppeland, Wayne	TempCarryover in Lieu of Makeup	7	\$80.00	\$560.00	C/A	5/25/2005
Nunn, Donald and Pearl	Ruisch Trust, Dale W. and Nellie H.	TempCarryover in Lieu of Makeup	2	\$80.00	\$160.00	C/A	5/25/2005
Pettis Family Trust	Soppeland, Wayne	TempCarryover in Lieu of Makeup	5	\$80.00	\$400.00	C/A	5/25/2005

Mojave Basin Area Watermaster

Transferee (Transferred to:)	Transferor (Transferred from:)	Type of Transfer	Amount of Transfer (Acre-feet)	Price per Acre-foot	Total Cost of Transfer	Subarea	Date Accepted by Watermaster
Rancheritos Mutual Water Company	Soppeland, Wayne	TempCarryover in Lieu of Makeup	15	\$80.00	\$1,200.00	C/A	5/25/2005
Riverside Cement Company - Agriculture	Kemper, Walter R. and Jonna S.	TempCarryover in Lieu of Makeup	38	\$80.00	\$3,040.00	C/A	5/25/2005
Riverside Cement Company - Oro Grande Plant	Kemper, Walter R. and Jonna S.	TempCarryover in Lieu of Makeup	72	\$80.00	\$5,760.00	C/A	5/25/2005
Riverside Cement Company - Oro Grande Plant	Yang, Young Mo	TempCarryover in Lieu of Makeup	101	\$80.00	\$8,080.00	C/A	5/25/2005
San Bernardino County Service Area 42	Southern California Water Company	TempCarryover in Lieu of Makeup	13	\$70.00	\$910.00	C/A	5/25/2005
San Bernardino County Service Area 64	Southern California Water Company	TempCarryover in Lieu of Makeup	284	\$70.00	\$19,880.00	C/A	5/25/2005
San Bernardino County Service Area 70C	Southern California Water Company	TempCarryover in Lieu of Makeup	174	\$70.00	\$12,180.00	C/A	5/25/2005
San Bernardino County Service Area 70J	Southern California Water Company	TempCarryover in Lieu of Makeup	76	\$70.00	\$5,320.00	C/A	5/25/2005
San Bernardino County Service Area 70L	Southern California Water Company	TempCarryover in Lieu of Makeup	27	\$70.00	\$1,890.00	C/A	5/25/2005
Service Rock Products Corporation	Soppeland, Wayne	TempCarryover in Lieu of Makeup	2	\$80.00	\$160.00	C/A	5/25/2005
Silver Lakes Association	Brommer Family Trust	TempCarryover in Lieu of Makeup	289	\$80.00	\$23,120.00	C/A	5/25/2005
Silver Lakes Association	Hanify, Michael D., dba - White Bear Ranch	TempCarryover in Lieu of Makeup	111	\$80.00	\$8,880.00	C/A	5/25/2005
Simmons, Jack H. and Ethun, Claudia	Soppeland, Wayne	TempCarryover in Lieu of Makeup	10	\$80.00	\$800.00	C/A	5/25/2005
Southern California Water Company	Southern California Water Company	TempCarryover in Lieu of Makeup	70	\$70.00	\$4,900.00	C/A	5/25/2005
Spring Valley Lake Association	Southern California Water Company	TempCarryover in Lieu of Makeup	349	\$70.00	\$24,430.00	C/A	5/25/2005
Spring Valley Lake Country Club	Soppeland, Wayne	TempCarryover in Lieu of Makeup	70	\$80.00	\$5,600.00	C/A	5/25/2005
Thrasher, Gary	Kemper, Walter R. and Jonna S.	TempCarryover in Lieu of Makeup	11	\$80.00	\$880.00	C/A	5/25/2005
Thunderbird County Water District	Soppeland, Wayne	TempCarryover in Lieu of Makeup	9	\$80.00	\$720.00	C/A	5/25/2005
Van Berg, Jack C.	Southern California Water Company	TempCarryover in Lieu of Makeup	7	\$70.00	\$490.00	C/A	5/25/2005
Van Leeuwen Family Trust	Meyers, Lonnie	TempCarryover in Lieu of Makeup	14	\$80.00	\$1,120.00	C/A	5/25/2005
Victor Valley Community College District	Ruisch Trust, Dale W. and Nellie H.	TempCarryover in Lieu of Makeup	18	\$80.00	\$1,440.00	C/A	5/25/2005
Victor Valley Memorial Park	Kemper, Walter R. and Jonna S.	TempCarryover in Lieu of Makeup	5	\$80.00	\$400.00	C/A	5/25/2005

Mojave Basin Area Watermaster

Transferee (Transferred to:)	Transferor (Transferred from:)	Type of Transfer	Amount of Transfer (Acre-feet)	Price per Acre-foot	Total Cost of Transfer	Subarea	Date Accepted by Watermaster
Victor Valley Water District	Atchison, Topeka, Santa Fe Railway Company	TempFPA in Lieu of Makeup	96	\$75.00	\$7,200.00	C/A	5/25/2005
Victor Valley Water District	Atchison, Topeka, Santa Fe Railway Company	TempCarryover in Lieu of Makeup	96	\$75.00	\$7,200.00	C/A	5/25/2005
Victor Valley Water District	Odessa Water District	TempCarryover in Lieu of Makeup	240	\$80.00	\$19,200.00	C/A	5/25/2005
Victor Valley Water District	Pacific Gas and Electric	TempCarryover in Lieu of Makeup	291	\$80.00	\$23,280.00	C/A	5/25/2005
Victor Valley Water District	Victor Valley Water District	TempFPA in Lieu of Makeup	637	\$0.00	\$0.00	C/A	5/25/2005
Victorville, City Of	Pacific Gas and Electric	TempCarryover in Lieu of Makeup	58	\$80.00	\$4,640.00	C/A	5/25/2005
		C/A Subtotal (72)	8,320		\$603,050.00		
Bar-Len Mutual Water Company	Soppeland, Wayne	TempCarryover in Lieu of Replacem	ent 13	\$80.00	\$1,040.00	Centro	5/25/2005
Delano Enterprises, Inc.	Van Dam, Eldert and Susan	TempCarryover in Lieu of Replacem	ent 147	\$80.00	\$11,760.00	Centro	5/25/2005
Hi Desert Mutual Water Company	Soppeland, Wayne	TempFPA	3	\$80.00	\$240.00	Centro	5/25/2005
Hi Desert Mutual Water Company	Soppeland, Wayne	TempCarryover in Lieu of Replacem	ent 1	\$80.00	\$80.00	Centro	5/25/2005
Mojave Water Agency	Desert View Dairy	Carryover-FPA Purchase Program	6	\$57.00	\$306.00	Centro	5/25/2005
Service Rock Products Corporation	Soppeland, Wayne	TempCarryover in Lieu of Replacem	ent 68	\$80.00	\$5,440.00	Centro	5/25/2005
Service Rock Products Corporation	Soppeland, Wayne	TempFPA	68	\$80.00	\$5,440.00	Centro	5/25/2005
		Centro Subtotal (7)	306		\$24,306.00		

Mojave Basin Area Watermaster

Transferee (Transferred to:)	Transferor (Transferred from:)	Type of Transfer	Amount of Transfer (Acre-feet)	Price per Acre-foot	Total Cost of Transfer	Subarea	Date Accepted by Watermaster
Desert Dawn Mutual Water Company	Bell, Chuck	TempCarryover in Lieu of Replaceme	nt 4	\$5.00	\$20.00	Este	5/25/2005
Juniper Riviera County Water District	Bell, Chuck	TempCarryover in Lieu of Replaceme	nt 12	\$5.00	\$60.00	Este	5/25/2005
San Bernardino County Service Area 29	Bell, Chuck	TempCarryover in Lieu of Replaceme	nt 4	\$0.00	\$0.00	Este	5/25/2005
San Bernardino County Service Area 29	Bell, Chuck	TempCarryover FPA	31	\$0.00	\$0.00	Este	5/25/2005
Southern California Water Company	Bell, Chuck	TempCarryover in Lieu of Replaceme	nt 41	\$5.00	\$205.00	Este	5/25/2005
Specialty Minerals, Inc.	Mitsubishi Cement Corporation	TempCarryover in Lieu of Replaceme	nt 18	\$175.00	\$3,150.00	Este	5/25/2005
Specialty Minerals, Inc.	The Cushenbury Trust, c/o Specialty Minerals, Inc	TempCarryover in Lieu of Replaceme	nt 8	\$0.00	\$0.00	Este	5/25/2005
Weiser, Sidney and Raquel	Bell, Chuck	TempCarryover in Lieu of Replaceme	nt 3	\$5.00	\$15.00	Este	5/25/2005
Bell, Chuck	Gabrych, Eugene	TempCarryover FPA	60	\$0.00	\$0.00	Este	9/28/2005
Desert Dawn Mutual Water Company	Gabrych, Eugene	TempCarryover FPA	11	\$20.00	\$220.00	Este	9/28/2005
Jubilee Mutual Water Company	Gabrych, Eugene	TempCarryover FPA	80	\$20.00	\$1,600.00	Este	9/28/2005
Juniper Riviera County Water District	Gabrych, Eugene	TempCarryover FPA	29	\$20.00	\$580.00	Este	9/28/2005
M.B. Landscaping and Nursery, Inc.	Gabrych, Eugene	TempCarryover FPA	100	\$20.00	\$2,000.00	Este	9/28/2005
Reed, Mike	Gabrych, Eugene	TempCarryover FPA	40	\$20.00	\$800.00	Este	9/28/2005
Weiser, Sidney and Raquel	Gabrych, Eugene	TempCarryover FPA	71	\$20.00	\$1,420.00	Este	9/28/2005
		Este Subtotal (15)	512		\$10,070.00		
San Bernardino County Service Area 70L	Aerochem, Inc.	TempCarryover in Lieu of Replaceme	nt 516	\$70.00	\$36,120.00	Oeste	5/25/2005
San Bernardino County Service Area 70L	Davis Family Trust	TempCarryover in Lieu of Replaceme	nt 12	\$70.00	\$840.00	Oeste	5/25/2005
San Bernardino County Service Area 70L	Hettinga, Hein and Ellen	TempCarryover in Lieu of Replaceme	nt 722	\$70.00	\$50,540.00	Oeste	5/25/2005
San Bernardino County Service Area 70L	Van Dam Brothers	TempCarryover in Lieu of Replaceme	nt 728	\$70.00	\$50,960.00	Oeste	5/25/2005
		Oeste Subtotal (4)	1,978		\$138,460.00		



Mojave Basin Area Watermaster

Transferee (Transferred to:)	Transferor (Transferred from:)	Type of Transfer	Amount of Transfer (Acre-feet)	Price per Acre-foot	Total Cost of Transfer	Subarea	Date Accepted by Watermaster
		Total (204)	31,367		\$2,666,932.00		